
�����������	
��
����


������������������������� �!"����"� #$%���������&'�()'�����������������

*���'�+

,-�./0�-12�3������-�4��54�6�3�7��89:�;��<3��1��6-�-=���./401�>��

./0��<3-3�>���=��?0���.-4-.3�4�<���5-4��1���1?�-66-3�01�=�<�5�3�3�<�70��<

����-�4�<@�,-�9:���70������13�6�13��3�5��3�<��.065��>��4�A�3�46��5-4��1�

.�44/0<�B�70�4��5-4?0�<�C34��?-3-����1��D-�<�1.��=��34-1<5�-13-3�01

/�5-3�>��@�,-���13���70��3�01�=���-�6-�-=���4�1=�=�??�.�����D�7-��-3�01�=�

��1�?�.��.��1�>���=�<�34-�3�6�13<@

E-1<�.��.013�F3�B������<3��13�4�<<-13�=��=�?�1�4�=�<�.4�3G4�<�=D�7-��-3�01�=�

<��<3�3�3�01�>���5�46�334-��13��1��<34-3�?�.-3�01�=�<�5-3��13<�<-1<��-�1�.�<<�3��=D�1��<�47����-1.��540�012����3

50�44-��13�C34���3���<�<�5-4���<�<0�21-13<�-?�1�=D�7-���4������1�?�.��=D�1��34-�3�6�13@

,�<�3-�F�=������4���1���3�5/0<5/-3-<��-�.-��1��8�H,;�<013�=�<�?-.3��4<�54010<3�>��<�=��<�47���=-1<��-�9:�@�,�

3-�F�=������4���1��1��=�5-<<��2�1�4-��6�13���<�7-���4<���6�3�<�<�5�4���4�<�1046-��<�8,IJ;�>�DA�=�<�<3-=�<

-7-1.�<�=���-�6-�-=��@

K1��4�.�13���3�=��5�������5-4����LMNOPMQRSTQUVWXYQLZNW[�-�<�22�4��>���./�\���<�5-3��13<�34-�3�<�5-4��D-.�=�

�4<0=�<0F]./0��>���8HKE9;�.01<�=�4�<�.066���01<�4�501=��4<�8.4�3G4�<�=���-4�<̂��0��=��_040130;B��1�

4�501<��̀�053�6-���a�8����H,�1046-��<��3�����4���1��b����c60�
��<0�3��BdeJ;�50�7-�3�C34��-<<0.����A��1�2-�1�=�

<�47��@�8�;�9�5�1=-13B�./�\�.�<�5-3��13<B������1�?�.��.��1�>���-�<0���=D�1��4�501<����0�02�>���053�6-���4�<3�

�1.�43-�1@

E-1<�.��.013�F3�B����E4�9/4�<305/��9045�./03�8fg5�3-��I-�13̂H130�1�B��-4�<;�-�54�<�13���04<�=��=�41��4�.0124G<

=���DHhihB���<�4�<��3-3<�=D�1���3�=��=��.0/043��4�340<5�.3�7��=�����	j�5-3��13<�-33��13<�=��9:���3�<��7�<��134�

���	��3������8�	�.�134�<B��k�5-]<;@�9�<�5-3��13<�=�7-��13�4�.�70�4��DHKE9�=�5��<�5��<�=D�1�-1�-7�.��1��4�501<�

��0�02�>���<-3�<?-�<-13��8.4�3G4�<�=���-4�<̂��l��H,��3�HIH_��m��BneJ��3�����4���1��1046-��;@

o��<D-2�<<-�3��54�1.�5-��6�13��=��?�66�<�8p��q;B�=Dr2��60]�1�d��-1<B�34-�3�<�5-4�HKE9�=�5��<�jBj�-1<��1�60]�11�

A��D�1.��<�01@�,-�6-s04�3��=�<�5-3��13<�1D�3-��13�5-<�A��1�<3-=��-7-1.��=���-�6-�-=���8t	�q;@�,�<�.4�3G4�<�=�

s�2�6�13��3-��13����=�.G<B��1��34-1<5�-13-3�01�0���1��.065��.-3�01�/�5-3�>��@�o��-��3��-33��13�./�\�t��8jBj�q;

5-3��13<�-54G<��1�<��7��60]�1�=��	Bn�-1<@

H54G<�-1-�]<��<3-3�<3�>��B����<D�<3�-7�4��>���<����<�=�<��H,�1046-��<��3-��13�-<<0.���<�A��1��-6���04-3�01�=���-

<�47���8�02̂4-1u�5v�B��kw�=�??�4�1.��=��3�65<�<�47���60]�1�4�<34��13�A����-1<�l�jB��60�<B�o9pn�q��Bj�x���B	B

5v�B���;@�H54G<�-s�<3�6�13�<�4��Dr2�B����<�F�B��-�����4���1�B��D-���6�1�B��-�=�4�3��=��?0���86�<�4���5-4�h��40I.-1;

�3��-�=�4���=��34-�3�6�13�5-4�HKE9�A��D�1.��<�01B�yz{z|}~�y{�~{���{z�����{���|�{�����|�{�{yz{��|z{�~

�y�}|~{�~{���{��|�{�����{�{���{�{�����{��������{�y�{���{��|�B�.044�<501=-13�A��1��-�26�13-3�01�=��	Bp

q�8o9pn�q��B��q�x�pBp�qw�5v�B�		;�=���D�<5�4-1.��=��7���A����-1<��3�A��1��=�6�1�3�01�=��n	B��q�8o9pn�q�k�Bp�q�x

dpB��qw�5b�B���;�=��4�<>���=��=�.G<B�=��34-1<5�-13-3�01�0��=��.065��.-3�01<�/�5-3�>��<@

9��2-�1�=��<�47���60=�<3��6-�<�<�21�?�.-3�?�./�\���<�5-3��13<�54�<�13-13�=�<��H,�1046-��<�1D-�5-<��3��0�<�47�

./�\���<�5-3��13<�54�<�13-13�=�<�  _�0��=�<�34-1<-6�1-<�<�1046-��<�0���1������4���1��m��BdeJ@

:��1�>���.�33���3�=��54�<�13��=�<���6�3�<�103-66�13�=��?-�3�=��<01�.-4-.3G4��4�340<5�.3�?B������5�46�3�=D-55043�4

=�<����6�13<�54010<3�>��<�-?�1�=D�=�13�?��4�54�.0.�6�13�=�<�5-3��13<��01<�4�501=��4<�A��DHKE9��3�>���<�4-��13�A

4�<>���=��.065��.-3�01<@�9D�<3�.�33��<0�<�505��-3�01�=��5-3��13<�>����<3��1.����=-1<��D�3�=��:�\�4.0����1�.0�4<

8/335<l

¡¡¡@?��?0��@.06
10�7�-�̂540s�3̂=�<<-�̂3/�4-5��3�>��̂=-1<̂�-̂.�5
;@��

¢�{¢�yz|�{£���|


¤¥¤
¦§ ¦̈

©�501<����0�02�>���A��D-.�=���4<0=�<0F]./0��>���-��.0�4<�=���-�./0�-12�3������-�4��54�6�3�7��l�?-�3̂���-�<0��6�13

1046-��<�4���<�3�<3<�/�5-3�>��<�ª�E4�9/4�<305/��9045�./03@�p�G6�<�s0�41��<�<.��13�?�>��<�=���DHhih@�E�s01�8=��n

-��t�0.30�4������;�

�̂�«�4���0���4�\�9hB��3�.0��@� ,¬:H,��:9�I3�=]� 40�5@� 0-�<�0?�_4�-36�13�?04�o65407�=�I�47�7-���1��4�6-4]

:���-4]�9/0�-12�3�<l�_4�-36�13�_-42�3�I/0��=�:��:���4���1�­�3/�1�3/��J046-��©-12��-1=�J046-��\-3�01�0?

H�u-��1���/0<5/-3-<�@�H6�®� -<340�13�40�@������®��w��n8j;l��dd̂��j	@�=0�l���@�	k�p
-s2@�������������nnj@��

905]4�2/3�̄�/335l

¡¡¡@s�6@?4

E¬IIoi©I�EK�®o«

o=��<�4�°��<�<�4��±0��<�3��l�874-�
?-�F;

K1��6�3-̂-1-�]<���.�-�4-13��<�4���<��??�3<���1�?�>��<�=�<�540=��3<��-�3��4<�<�4��-�<-13�
²



�����������	���
���
��

������
�

������	����	�������	�����
����������������������
���
���	���
������������
�

������������� !"#����$%�$!��#�&

'����������(��)�
�����	�������������
��	�����
������

��
������	���
�*���
��	
�%+��
���
������	���
��������+�����

,�


���
�������
�����������+�


���(�!���

 ���	
��
������
��������-���. ��/��������0������
����������
���

$�	�����
������	
������

������
������
1����

�)������
����1����
���
*���������2���	���1����

��

3�,����4!�"#���

56789:;8:<=8>?8=:@:=ABC?=:D

�������
�
������0����

��������������+������0��������
�������	��������EFGHIEJG�

$�����������������-�
������������
���*�K��������	����
������������	�
�
���.�+�
����	���
�	��*���*����1������(�LM

1�����/N�������0
���
��O��������
�
�����������-�
�����+�
�����
��������	�������������N

�PQRSTUQPVPWXYPSQYUWZX

[


